® Instruction Sheet 860423557
COMMSCOPE

©

www.commscope.com

CRBK-RS Ladder Rack Universal Rack Support Kit Instructions

General

The CRBK-RS ladder rack universal rack support kit includes the hardware to anchor ladder racks to a ceiling or wall for
additional protection against earthquake damage. The 5/8-inch threaded rod required to complete this installation is not
provided and must be obtained locally.

Ordering information is listed below:

Material ID Description

760084004 CRBK-RS ladder rack universal rack support kit
How to Contact Us

e  To find out more about CommScope® products, visit us on the web at http://www.commscope.com/

. For technical assistance:

- Within the United States, contact your local account representative or technical support at
1-800-344-0223. Outside the United States, contact your local account representative or Authorized
Business Partner.

- Within the United States, report any missing/damaged parts or any other issues to CommScope
Customer Claims at 1-866-539-2795. Outside the United States, contact your local account
representative or Authorized Business Partner.

Parts List

Tools R ir
Verify parts against the parts list below: 00lS Requ ed

Quantity Description Quantity Description ¢ 3/4”and 15/16" socket and
3 Ceiling mount brackets 2 1/2 -13 hex nuts driver or open-end wrench
1 Rack mount bracket 4 5/8-11 hex nuts
2 1/2-13 x 1-1/4” hex bolts 1 Instruction sheet
2 1/2” lock washers
Installation
To ceiling
Ceiling or wall
mount bracket To wall
(3 places)

1/2-13 x 1-1/4 hex bolt
with 1/2” lock washer
and hex nut (2 places)

5/8” threaded rod /v
(Obtain locally)

-
-
-

-

5/8” threaded rod
(Obtain locally)

5/8” hex nuts
(4 places)

Rack
mount
bracket

Ceiling or wall
mount bracket
(3 places)

-
//,

N

[

To Rack 5/8” hex nuts
To Rack (4 places)
1/2-13 x 1-1/4 hex bolt
with 1/2” lock washer E;CC'T( g:ount
and hex nut (2 places)
Ceiling Attachment Wall Attachment
Configuration Configuration

O al. work ©2013 CommScope, Inc. All rights reserved Page 1of1


http://www.commscope.com/

	General
	How to Contact Us
	Parts List
	Installation

